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SECTION A (10 marks)
1. Write the meanings of the following words: (1x4=4)
a. Grumbled: Complained
b. Realised: Came to know
¢. Surrounded: Closed from all sides
d. Daft: silly, foolish
2. Write the opposites of the following words: (1x4=4)
a. Little - more
b. Fresh - stale
c. Bad - good
d. Friends - enemies
3. Make sentences: Children will make on their own. (1x2=2)
a. Forgotten -
b. Enough -
SECTION B - (15 marks)
4. Complete the sentences: (3)
a. It was nearly sun set when the man arrived back at the market.
b. Turtle had finally learnt how to be quiet.
¢. The man drew a detailed picture of his feet on a piece of paper.
5. Answer in brief:
a. List two naughty things that the dog does. Describe it's tail. (2+1)

Ans.; Two naughty things that the dog does — 1. The dog bites shoes./ He steals meat. 2. He chews mat./ He barks
at cars.

The dog’s tail is whirly and curly. And the tail is always up in the air.

b. What happened to the Turtle when he opened his mouth to talk? Until when did the Turtle not come out? (2+1)
Ans.: When the Turtle opened his mouth to talk, he fell back in the earth, landed in the mud next to the river.

The Turtle did not come out until spring.

c. What did the man realise when he reached the shoe shop? What did he do then? (2+1)
Ans.: The man realised when he reached the shoe shop that he had forgotten to bring the paper on which he had
carefully written his measurements.

He returned back home to get his paper.

d. Why did everyone feel happy all of a sudden? What did Timothy do? (2+1)
Ans.; Everyone felt happy all of a sudden because daddy fell into the pond.

Timothy started to dance.



SECTION C - (20 marks)
6.Reference to context:

"I would like to see your home."

a. Name the lesson. (1)
Ans.: The name of the lesson is — ‘The Turtle Who Could Not Stop Talking’

b. Who said this? (1)
Ans.: The Turtle said this.

¢.  Whose house did the speaker want to visit? (1)
Ans.: The Turtle wanted to visited the geese’s home.

d. Where did they live? (1)

Ans.: They live on a beautiful lake, surrounded by beautiful mountains.

e. Why did he want to see their home? (1
Ans.: The Turtle wanted to see their home so that it would give him more stories to talk about.

7. What did the shoemaker tell the man? What did the man learn in the end? (3+2)
Ans.: The shoemaker told the man foolish, as he could have just tried the shoes in his store instead of going back
home to get his paper.
The man learnt that there were many other ways to solve a problem. He learnt to be open-minded. He should
have been ready to try new things.
8. Why was Turtle different from the other turtles? What did Turtle promise the two geese? (3+2)
Ans.: The Turtle was different from the other turtles because he never stopped talking.
The Turtle promised the two geese to keep his mouth closed and not say a word.
9. Write the summary of the poem "Daddy Fell into the Pond". (5)

Ans.: The poet, Alfred Noyes was an English poet and short story writer. In this poem, the poet has depicted about
one ordinary and dull day. On that day, the sky was grey and so everyone complained about the lack of excitement
and fun. Just as the day was about to end, at that point of time daddy fell into the pond. Everything changed,
everyone became happy. Timothy started to dance and the gardener laughed. Not just the humans, the ducks and
the drake enjoyed the sight too.



